


6033 : 29 = 208 (ост. 1)6033 = 29 · k

k не существует

49 348 = 61 · k 49 348 : 61 = 808 (ост. 60)

k не существует



№ 719

1

Да, например,  число 3

1

Наибольшим – n,

Наименьшим – 1.



ОД(36; 45): 1, 3, 9 ОД(24; 30): 1, 2, 3, 6

= 9 = 6



х2 6
IIIIIIIIIIIII

у6 9
IIIIIIIIIIIII

у > х



- 8 - 0,16 2,2 0,2

- 37,4 318,6 -7965 -8419

1,64 -1,36 -1,6 - 200

-0,64 -3,44 0,4 1,6



*

К л а с с н а я    р а б о т а.

*

К л а с с н а я    р а б о т а.



3

1

3

2) 4,8 – 3 = 1,8
3

1

3,15

100



2

1

3

1

6

2) 6 – 0,8 = 5,2
2

1

1,4

4) 1,4 + 1,2 = 2,6

10

2



№ 726(в)
11

2

7

2

4
1000

11

5

200

50



№ 728(г)

10000 8

12

3

4

8

0,8



У:   № 722 – 723(в,г); 
724; 725; 728(а,
в). 
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